Montasjeanvisning
Grenreol 5m .-

1. 0
Soyle/fot

bolter fra siden

|
Al
)
‘ T ® )
1-PE DIN931/10.9 DIN934/10.9 DIN 125
120-220 3x M12x40 M 12 213 100 Nm
240-500 4x M12x50 M 12 213 100 Nm
8]
10.9 HV
C@ DIN 6914 DIN 6915 DIN 6916

~
Q\y
o o]
oo ©
2. o 7
Soyle/fot
bolter bakfra
Ey
&
Al
T ® D)
DIN 931/10.9 DIN 934/10.9 DIN 125
200 | 6x |M12x40 M 12 213 100 Nm
220-240 | 4x | M 16 x 50 M 16 217 250 Nm

8]

M 10 @ piNg3t @ DIN9s4a ([ DIN125 109

M12-M24 C0 DIN 6914 DIN 6915 DIN6916  10.9 HV

rt reolteknikk

Wwww.reolteknikk.no man - fre 08 - 16 Hellenvegen 22, 2022 Gjerdrum

OQX%
1-2. ok
o 0
Seyle/fot -
dobbeltsidig Ul o
reol °
Al
@ ® Do
DIN931/10.9 DIN 934/10.9 DIN 125
160 - 200 | 4x | M 16 x 90 M 16 017 250 Nm
220-240 | 4x | M20x 110 M 20 %21 450 Nm
270-330 | 4x | M24x120 M 24 925 800 Nm
8]
10.9 HV
M12-M24 @0 DIN 6914 DIN 6915 DIN 6916
3.
. T
Horisontalstag :
R ’ J
.
j/ g " ®
500
500
500
500
500 ]
g
g ||
500
%\y
o o
e |° ° °
o © () 8.8
el o
@@ | M 12 x 45 DIN 931
I} e}
o M 12 DIN 934
o]
213 DIN125A

@93 70 Nm

www.reolteknikk.no tif: 63 93 52 00



] - -
Montasjeanvisning
Grenreol 5m ::
4, 5.
Kryss Armer
R —~ .
o~ =
_ \ o ©
O@‘ @\@\S‘ .
o o
0 o o
o o
o o
M 12 DIN 1480
O« @l e Qi D)) ©)
s ® @93
@ F;E ° DIN 931 DIN 934 DIN 125
=0 | M12x45 DIN 931 180-220 | M12x45/88 | M12 213 70 Nm
V7 - ﬂ
M 12 DIN 934 240-500 | M16x55/8.8 M 16 17 175 Nm
213 DIN 125
@93 70 Nm

rt reolteknikk

Wwwuw.reolteknikk.no man - fre 08 - 16 Hellenvegen 22, 2022 Gjerdrum www.reolteknikk.no tlf: 63 93 52 00



